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V. The manager’s
A) meticulous

B) indifferent

C) diligent

D) zealous

Y. The speaker’s
A) candid

B) ambiguous

C) discreet

D) evasive

¥. The scientist’s
A) conventional
B) radical

C) superficial

D) trivial
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attitude toward the project caused delays and frustration among the team.

remarks about the company’s financial status shocked the audience.

theory was initially dismissed but later proven correct.




¢, The company’s
A) meager

B) exorbitant

C) moderate

D) negligible

°, Her

A) amicable
B) abrasive
C) cordial
D) placid

1. The professor’s lecture was so

A) lucid

B) coherent
C) obscure
D) eloquent

V. The politician’s
A) plausible

B) dubious

C) credible

D) authentic

A. The company tried to

A) mitigate
B) exacerbate
C) perpetuate
D) alleviate

4. His

A) optimistic

B) pessimistic
C) impartial
D) enthusiastic

\+. The

A) conclusive
B) contradictory
C) definitive

D) explicit

V). The manager
A) approved

B) endorsed

C) rejected

D) advocated

profits were a result of unethical practices.

behavior during the meeting made everyone uncomfortable.

that many students left feeling confused.

promises failed to convince the skeptical voters.

its declining sales by launching a new marketing campaign.

remarks about the project were interpreted as a lack of confidence.

nature of the evidence made it difficult to reach a conclusion.

the employee’s request for a raise, citing budget constraints.
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\ Y. The novel’s
A) predictable

B) intricate

C) mundane

D) straightforward

\Y. The CEO’s
A) authoritarian
B) charismatic
C) passive

D) indifferent

V¢, The company’s
A) transparent

B) dubious

C) ethical

D) legitimate

V¢, The professor
A) emphasized

B) diminished

C) overlooked

D) undermined

V1. The

A) serene

B) tense

C) relaxed

D) harmonious

\V. The manager’s
A) hasty

B) deliberate

C) cautious

D) prudent

\A. The company’s
A) stagnant

B) exponential

C) gradual

D) declining

V4. The
A) concise
B) verbose
C) clear
D) succinct

plot kept readers engaged until the very end.

leadership style inspired the team to achieve great results.

financial practices were exposed by a whistleblower.

the importance of thorough research before drawing conclusions.

atmosphere in the room made it difficult to focus on the discussion.

decision to cancel the project surprised everyone.

growth was attributed to its innovative strategies.

nature of the report made it difficult to understand the main points.
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Y+. The team’s efforts to meet the deadline were ultimately unsuccessful.
A) relentless

B) sporadic

C) consistent

D) intermittent

Passage

The globalization of trade has transformed the global economy, creating both opportunities and challenges. While
it has facilitated access to international markets, it has also exacerbated income inequality, particularly in
developing countries. Multinational corporations, often described as opportunistic, exploit lax regulations to
maximize profits, leading to exorbitant gains at the expense of local workers. This has sparked a debate about the
ethics of globalization, with some arguing that its benefits are dubious, while others emphasize its potential to
foster economic growth. Governments, however, have been criticized for their hasty decisions, such as imposing
tariffs without considering their long-term impact. Meanwhile, activists advocate for more equitable policies,
believing that globalization, if managed responsibly, can mitigate social disparities and promote sustainable
development. Despite these efforts, the contradictory nature of global trade policies continues to hinder progress.

Y ). What is one negative impact of globalization mentioned in the passage?
A) Increased access to international markets

B) Exacerbation of income inequality

C) Promotion of sustainable development

D) Reduction of social disparities

YY. The word "exorbitant" in the passage is closest in meaning to:
A) Reasonable

B) Excessive

C) Negligible

D) Moderate

Y¥. What criticism is made about governments in the passage?
A) They prioritize sustainable development over profits.

B) They impose tariffs without considering long-term impacts.

C) They avoid imposing tariffs to protect local economies.

D) They have successfully mitigated social disparities.

Y £. What do activists advocate for according to the passage?
A) More inequitable policies

B) Continued exploitation by corporations

C) More equitable policies

D) Elimination of globalization

Passage ¥

The rise of artificial intelligence (Al) has revolutionized industries, from healthcare to transportation, but it has
also raised significant ethical concerns. While Al has alleviated many challenges, such as improving efficiency

Yy




and reducing human error, it has also perpetuated biases, particularly in decision-making processes. The once-
meticulous work of human analysts has been replaced by algorithms, which, although efficient, often lack the
nuance and empathy of human judgment. This shift has sparked a debate among technologists, with some arguing
that Al's benefits are plausible, while others warn against its potential to undermine privacy and exacerbate
inequality. Meanwhile, the rapid adoption of Al has been criticized as hasty, with experts emphasizing the need
for stricter regulations. Despite these concerns, many remain optimistic, believing that Al, if used responsibly,
can foster innovation and address global challenges.

Yo, What is one positive impact of Al mentioned in the passage?
A) Perpetuation of biases

B) Reduction of human error

C) Undermining of privacy

D) Exacerbation of inequality

Y1. The word "meticulous" in the passage is closest in meaning to:
A) Careless

B) Detailed

C) Inefficient

D) Superficial

YV. What criticism is made about the adoption of Al in the passage?
A) It has been too slow and cautious.

B) It has been hasty, lacking strict regulations.

C) It has fully addressed ethical concerns.

D) It has avoided impacting industries.

YA. What do experts emphasize regarding Al according to the passage?
A) The need for stricter regulations

B) The elimination of Al from industries

C) The reduction of Al efficiency

D) The avoidance of innovation

Passage ¥

The education system has long been a topic of debate, with many arguing that it fails to address the diverse needs
of students. Traditional teaching methods, often described as conventional and superficial, prioritize rote learning
over critical thinking, leaving students ill-prepared for real-world challenges. Progressive educators, on the other
hand, advocate for a more radical approach, emphasizing creativity, collaboration, and problem-solving.
However, implementing such reforms is not without challenges, as many schools face meager budgets and a lack
of trained teachers. Critics argue that these reforms, while plausible, may be too ambitious, potentially leading to
a decline in academic standards. Meanwhile, students from underprivileged backgrounds are disproportionately
affected, as they often lack access to resources that could mitigate the impact of an inadequate education. Despite
these obstacles, some remain optimistic, believing that a more inclusive and innovative system could eventually
emerge.

YY




Y4. What is the main argument of progressive educators?

A) Traditional methods are the most effective.

B) Education should focus on creativity, collaboration, and problem-solving.
C) Schools should prioritize rote learning over critical thinking.

D) Education reforms are unnecessary and ineffective.

¥ .. The word "meager" in the passage is closest in meaning to:
A) Abundant

B) Insufficient

C) Excessive

D) Adequate

Y. What challenge do schools face in implementing educational reforms?
A) Excessive funding and resources

B) Lack of trained teachers and meager budgets

C) Overemphasis on creativity

D) High academic standards

¥ Y. What is one consequence of inadequate education for underprivileged students?
A) They have access to more resources.

B) They are disproportionately affected due to lack of resources.

C) They benefit from traditional teaching methods.

D) They are unaffected by educational challenges.

Passage ¢

The rise of social media has transformed the way people communicate, share information, and form relationships.
While it has facilitated global connectivity, it has also sparked concerns about its ethical implications, particularly
regarding privacy and mental health. Influencers, often described as charismatic and persuasive, have amassed
large followings, shaping public opinion and consumer behavior. However, their authenticity is frequently
questioned, with critics arguing that their endorsements are driven by dubious motives rather than genuine belief.
This has led to a tense atmosphere in online communities, where users are bombarded with contradictory
information and unrealistic standards. Meanwhile, social media platforms have been criticized for their indifferent
approach to regulating harmful content, exacerbating issues such as cyberbullying and misinformation. Despite
these challenges, many users remain enthusiastic, believing that social media, if used responsibly, can foster
meaningful connections and promote social change.

¥Y. What is one positive impact of social media mentioned in the passage?
A) It has eliminated all privacy concerns.

B) It has facilitated global connectivity.

C) It has reduced the influence of influencers.

D) It has prevented misinformation.

Y ¢, The word "dubious" in the passage is closest in meaning to:
A) Certain

B) Questionable

C) Obvious

D) Authentic

Yo




Yo, What criticism is made about social media platforms in the passage?

A) They are too strict in regulating content.

B) They are indifferent to harmful content, exacerbating cyberbullying and misinformation.
C) They have eliminated all harmful content.

D) They prioritize user privacy over profits.

¥1. What is one concern about influencers mentioned in the passage?
A) Their endorsements are always genuine.

B) Their authenticity is questioned due to dubious motives.

C) They have no impact on public opinion.

D) They are unaffected by social media trends.

Passage ¢

The environmental crisis has become a pressing issue, with many scientists emphasizing the need for immediate
action to alleviate its catastrophic effects. Climate change, driven by human activities such as deforestation and
excessive emissions, has led to an exponential rise in global temperatures, causing severe weather patterns and
habitat destruction. Governments, however, have been criticized for their indifferent approach, often prioritizing
short-term economic gains over long-term sustainability. This has resulted in a contradictory situation: while
some nations advocate for green energy, others continue to rely on fossil fuels, exacerbating the problem. Activists
argue that such policies are not only unethical but also hasty, as they fail to address the intricate relationship
between economic development and environmental protection. Meanwhile, public awareness campaigns have
been launched to educate individuals about their role in reducing waste and conserving resources, though their
impact remains sporadic, with many people still unaware of the gravity of the crisis.

¥V. What is one cause of climate change mentioned in the passage?
A) Green energy policies

B) Excessive emissions

C) Public awareness campaigns

D) Economic sustainability

YA. The word "exacerbating" in the passage is closest in meaning to:
A) Reducing

B) Worsening

C) Ignoring

D) Solving

¥4. What criticism is made about governments in the passage?

A) They are too focused on long-term sustainability.

B) They prioritize short-term economic gains over environmental protection.
C) They have successfully implemented green energy policies.

D) They are unaware of the environmental crisis.

£+, What is the main challenge with public awareness campaigns according to the passage?
A) They are too expensive to implement.

B) Their impact is consistent but ineffective.

C) Their impact is sporadic, and many people remain unaware.

D) They have fully educated the public about the crisis.
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